4 (a+b) (a—b)DEH

ROFERBALEE L,
1) (z+0)? 2 (a—6) 3) (2a+30)
@ (—z+5yF 5) (atLo) 0 (5-4)

a’*+ b* [C £2ab

HOR (a+by=d*+2ab+ b’
ZFIM. (a—b)’=a’—2ab+ ¥’
(1) (z+4)y=a?+2Xxx4+4?
=x*+8x+16
2) (a—6=a’—2Xax6+6 I~
=a*—12a+36 !Q’j
(3) (2a+3b)*=(2a)*+2%x2ax3b+(3b) PN
=4a"+12ab+9b% «+eee- +2X2X3Xab

FERORIE T, A0
a, b ZHEDH o, £2ab, b’ ZEE TKD 5,

BE

1) (z+4)?=x"+8x+16 +2X x X4

2) (a—6P=a*—12a+36 —2Xax6

3) (2a+3b)=4a’+12ab+9b° +2X2aX3b

4) (—x+5y)Y=x"—10xy+25y° +2X(—x) X5y

(5) (a+%b)2=az+%ab+%b2 +2><a><%b

6) (l_l>z=iz_ﬂ+i _oxZxl
2 4 4 4 16 274

) 4) (—z+5y)=(x—b5y) ThH3, i
(—a+b)=(—b+a)P=(a—b)*=(b—a)*
B ID, £72 (b+a)P=(a+bd)? »JKY D,

L4 ROREEBLA S W,
(1) (x+3)? (2) (a—5) (3) (a+3b)

6 (—e+3) @ (F2+2) @ (L-Lf

5 ROAZMHIC LA S0,

(a+ b)?
=a’+2ab+ b*
FAE £2ab

ERZ2 B,
=a’*—2ab+ b’

(a—b)’
(a—b)l=a*—2ab— b’
ERD T,

(4) (*x)2+ ...... +(5y)2
Thd, NZ&
—2*+10xy +25y°
& ED IENDD,

4) (Ba—2b)

(8) <%x - %y>2

(1 (at+b)y+(a—0b) 2) (a+by—(a—0b)

®




it — 8

=238 U5 (a+b)(a—b) DEE

ROWZFEFRUEEL,

1) (a+4)(a—4) (2)

(3) <—x+%><x+%> (4)
MY EFFHRDE

HORA (a+b)(a—b)=a’— b

ERIH. MXE FHOE
(1) (a+)(a—4) = o4&

alADF X a E4DE FHDE
(2) (Bx—2y)Bx+2y)=(3x)*—(2y)

(Bx—2y)(Bx+2y)

(o 3o)(3o)

(a+b)(a—b)
=a’— b?
MXERF FHDE
E8BZD,

RO 3% > TH[F L,

=X FhRDE

3) <—x+%><x+%>=<é>z—xz -~ <%—x><%+x> (3) fx27<%>2[5t 20,
£ X Al THOE

@ (a+%0)(30-a)~(36) -~ ($6+a)(30-a) W @(2) 1 o,
M X = FH0=E

EBEOHETIE, &XD
a, b ZHEDY o, b’ ZEE TR0 5,

ﬁx

=

1) (a+4)(a—4)=a"—16 a—4

2) (Bx—2y)(Bx+2y)=9x*—4y* (Bx)y—(2y)

® (—z+g)(z+g)=1-=  (3)-=

(4) (a+%b)(%b—a)=%b2—az

(1)
(2)

(x+a)(x+ b)=x*+(a+ b)x+ab
(a+b)’=da*+2ab+ b*
(a—b)’=a*—2ab+ b*
(a+b)(a—b)=a*—b*

Ll 6 ROAZE LS v,

1) (x+7(x—17) 2) (a—5)(a+5)

(3x)?=3*x x*
(2y)?=2*Xy*

CORERG

%2
_9b

EHlE *2ab
X ZEF FHROE

3) (2a+3b)(2a—3b)

@ (z+4)(z=4) 6 (2w+3Gurzo © (E-4)(4+7)




